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ECONOMICS
( Honours Core )

Paper : ECO-HC—4026
( Intermediate Macroeconomics—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. A‘nswef the following questions : . 1x10=10
O PR e fie |
(a) What is fixed investment?
R R 2
(b) What is government debt?

R A1 2
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(0

(d)

(e)

9
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(2)

What is effective demand?

Sfern i 2

What is consumption function?

o e 2

Who provided the Rational Expectation
hypothesis? S

MRS AGPT SN 4RO RIA
SRR ?

What is neutral technical progress?
e o wuefS 9
“Central bank of a country formulates

monetary policy.” Is it true or false?

“g PR TN QT It AR omde
FA 1’ G Y @ e ? '

Who propounded endogenous growth
model?

g R P S,

( Continued )

i
|
l

i)

(3)

Name one new-classical economist.

G F-Ire SRR T o o
() Mention one limitation of Solow model.
o’ 7 GO Mol Ay 3940 |
2. Answer the following questions : 2x5=10
N R-ELE S Teq famn :
fa) What is meant by liquidity trap?

(b)

()

(d

(e)
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O ¥ o & @2

Mention two limitations of classical
theory. '

TPt R o1 el S 4 |

Define golden rule of Solow model.
v’ =ik cTenst S s o |

What is Ricardian eqﬁivalence?

RS et 32

Mention two elements of endogenous
growth

e R 751 B Tear 41 |
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(c)

(@)

(e

()
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(.12)

What is effective demand?

Siern vl R 2

What is consumption function?

crIN R

Who provided the Rational Expectatlon

‘hypothesis?

b (aGu efm_‘ﬂﬂm RN A
ISRIRRET

What is neutral technical progress?
s agfers wefe 2

“Central bank of a country formulates
monetary policy.” Is it true or false?

“aF PR (FER QTF RR MW epde
IR’ G T & 9 '

Who propounded endogenous growth
model?

wmmmmm»

( Continued )

l
l

(3)

() Name one new-classical economist.

& G-I SRR T forn 1

() Mention one limitation of Solow model.

v'e’ o 961 MaRae! Seay 9911

2. Answer the following questions : 2x5=10
SO 2P eq fa
fa) What is meant by liquidity trap?
O 1 e & @2

(b) Mention two hrmtatxons of classical
theory.

TIPTS5 SR S

(c) Define golden rule of Solow model.
=’ iy Crat [T SR o o

(d) What is Ricardian eqﬁivalence?

R e 2

(e) Mention two elements of endogenous
growth.

SEEe RPMA {51 Bom Sear 30 |
24A/703 | ( Turn Over )



24A/7 03

(4)

3. Answer any four from the following
questions : S5x4=20

T 2PTR ©R1 R @I SiRGR e fa

(a) Explain the ‘basic features of new-
classical school ‘of macroeconomic
thought.

SRR ST SRYRR -5ZS ¢aN5T
Cfer CRMEPTIR T 30 |

(b) Explain the objectives of monetary
policy.
(Tt ST CIMBPIR W 11

(0 Explain the budget constraints of the
government.

mmmmmwa

(d) Explain ;various motives of demand for
money as indicated by Keynes.

TS TS N R SR SARERH ram
01 '

(e) Explain the dissimilarities between
Harrod and Domar growth models.

C’E’EWWWWWWWI

WWI

" ( Continued )

0

(S)

Discuss various determinants of
business fixed investment.

W@?ﬁmﬁﬁmWWI

4. Answer the following questions : 10x4=40

T PR T fa

(@)

(b)
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Critically discuss the Solow model of
economic growth. :

Py GARe RIPR .eri’zﬁyvmmw
STRRICT SIS 901

Or/ 9l

Discuss the instability of growth process
of Harrod-Domar models.

@%—@WWWW&WW
A

Critically discuss the life-cycle
hypothesis of consumption function.

co1 TR Q-5 SRIACO! FCoA! TP
Al 91 |
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(c)

(@)

24A/703

(6)

Or / ©=1

Critically discuss Fisher’s theory of
optimal intertemporal choice.
FRFPICT HAMCEATOAT 99T |

What is meant by random walk of
consumption expenditure? Discuss
various factors determining con-
sumption function. 3+7=10

wfaafie ot T A o B @ com
R 91 RSH SomMCIR SHICes 3641 |

Or / Sl

Discuss the main features of Keynesian
economics. 10

QP WM wARF  eRYRR ‘1’"
BRI e 990 1

What are the main targets of monetary
policy? Discuss the rule versus
discretion of monetary policy of a

country. 4+6=10

A IR T TR B B2 9 e
e T3 ey 7w =7 Ry e
I

( Continued )
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(7)

Or / &d1

Discuss the relationship between
technological progress and elements of

endogenous growth. : 10
gfers s wWE  wEEWe  Rerd
BoAIPTIRA Ao ST=o Sl 1 |
* kX
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